

Pricing Proposal

Quotation #: 23166400 Created On: 3/2/2023 Valid Until: 4/28/2023

TX-City of Burleson

Inside Account Executive

James Grommersch

225 West Renfro ATTN: CHARLES HARRIS BURLESON, TX 76028 United States

Phone: Fax:

Email: jgrommersch@burlesontx.com

Alex Jasko

300 Davidson Ave Somerset, NJ 08873 Phone: 732-652-3061

Fax:

Email: alex_jasko@shi.com

All Prices are in US Dollar (USD)

	Product	Qty	Your Price	Total
1	Arctic Wolf MDR user license Arctic Wolf Networks - Part#: AW-MDR-USER Contract Name: Software/ Services Contract #: DIR-TSO-4317	75	\$61.40	\$4,605.00
2	Coverage Term: 4/28/2023 – 1/30/2024 Arctic Wolf MDR server license	6	\$61.40	\$368.40
	Arctic Wolf Networks - Part#: AW-MDR-SE Contract Name: Software/ Services Contract #: DIR-TSO-4317 Coverage Term: 4/28/2023 – 1/30/2024			,
3	Arctic Wolf MDR Log Retention - 1 year Arctic Wolf Networks - Part#: AW-MDR-1YR Contract Name: Software/ Services Contract #: DIR-TSO-4317 Coverage Term: 4/28/2023 – 1/30/2024	81	\$4.30	\$348.30
4	Arctic Wolf 1000 Series Sensor - 4 x 10G Multi-Mode Fiber LC Connectors with Bypass Arctic Wolf Networks - Part#: AW-MDR-10XX-S-10GF Contract Name: Software/ Services Contract #: DIR-TSO-4317 Coverage Term: 4/28/2023 – 1/30/2024	1	\$3,574.50	\$3,574.50
5	Arctic Wolf Managed Risk user license Arctic Wolf Networks - Part#: AW-MR-USER Contract Name: Software/ Services Contract #: DIR-TSO-4317 Coverage Term: 4/28/2023 – 1/30/2024	75	\$29.80	\$2,235.00
6	Arctic Wolf Managed Risk server license Arctic Wolf Networks - Part#: AW-MR-SE	6	\$29.80	\$178.80

Arctic Wolf Networks - Part#: AW-MR-SE Contract Name: Software/ Services

Contract #: DIR-TSO-4317

Arctic Wolf Platform - Users and Servers Arctic Wolf Networks - Part#: AW-PLATFORM Contract Name: Software/ Services Contract #: DIR-TSO-4317	81	\$4.50	\$364.50
Coverage Term: 4/28/2023 – 1/30/2024			
Arctic Wolf IR JumpStart Retainer Arctic Wolf Networks - Part#: AW-IR-JSR	1	\$0.00	\$0.00
Contract Name: Software/ Services			
Contract #: DIR-TSO-4317 Coverage Term: 4/28/2023 – 1/30/2024			
Arctic Wolf Sensor/Scanner Shipping Arctic Wolf Networks - Part#: AW-SHP Coverage Term: 4/28/2023 – 1/30/2024	1	\$141.20	\$141.20
Ooverage 16111. 4/20/2020 – 1/30/2024	-	Subtotal Total	\$11,815.70 \$11,815.70

Additional Comments

Hardware items on this quote may be updated to reflect changes due to industry wide constraints and fluctuations.

SHI SPIN: #143012572

SHI-GS SPIN (For Texas customers ONLY): #143028315

For E-rate SPI orders, applicant shall be responsible for payment of any outstanding or ineligible costs if USAC rejects reimbursement claim in whole or in part.

Please note, if Emergency Connectivity Funds (ECF) will be used to pay for all or part of this quote, please let us know as we will need to ensure compliance with the funding program.

The Products offered under this proposal are resold in accordance with the <u>SHI Online Customer Resale Terms and Conditions</u>, unless a separate resale agreement exists between SHI and the Customer.



Pricing Proposal

Quotation #: 23139836 Created On: 2/24/2023 Valid Until: 4/28/2023

TX-City of Burleson

Inside Account Executive

James Grommersch

225 West Renfro ATTN: CHARLES HARRIS BURLESON, TX 76028 United States

Phone: Fax:

Email: jgrommersch@burlesontx.com

Alex Jasko

300 Davidson Ave Somerset, NJ 08873 Phone: 732-652-3061

Fax:

Email: alex_jasko@shi.com

All Prices are in US Dollar (USD)

F	Product	Qty	Your Price	Total
F	COHESITY DATAPROTECT SERVICE SUBSCRIPTION (1 TB). BACKUP AND RECOVERY ACROSS ON-PREM AND CLOUD WORKLOADS. SUBSCRIPTION PER TB DF USABLE STORAGE CAPACITY - 60 Months Cohesity Inc Part#: SVC-DATAPROTECT	20	\$2,849.27	\$56,985.40
S	COHESITY SMARTFILES SERVICE SUBSCRIPTION (1 TB). FILE AND OBJECT SERVICES ACROSS ON-PREM AND CLOUD WORKLOADS, INCLUDING TIERING AND SMARTFILES APPS. SUBSCRIPTION PER TB OF USABLE STORAGE CAPACITY - 60 Months Cohesity Inc Part#: SVC-SMARTFILES	5	\$1,167.28	\$5,836.40
	C5016-RJ45 FOUR (4) NODE BLOCK WITH 48 TB SECURE ERASE HDD, 6.4 TB PCI-E FLASH, 256 GB RAM, 16X 10GBE RJ45 PCIE, 4X IPMI; HARDWARE ONLY Cohesity Inc Part#: C5016-10G-RJ45-4	1	\$21,430.16	\$21,430.16
	PREMIUM (24X7) SUPPORT FOR C5016-10G-RJ45-4-INFO; SUBJECT TO THE COHESITY SUPPORT MAINTENANCE TERMS AND CONDITIONS 60 Months Cohesity Inc Part#: CS-P-C5016-10G-RJ45-4	1	\$12,328.80	\$12,328.80
C	CABLE, 10G, LCLC, OPTICAL, 5M Cohesity Inc Part#: CBL-10G-LC-005	8	\$31.13	\$249.04
1	IOG SHORT-RANGE OPTICAL SFP+ ADAPTER Cohesity Inc Part#: ADP-SFP-10G-SR	8	\$96.23	\$769.84
		_	Subtotal Shipping Total	\$97,599.64 \$250.00 \$97,849.64

Additional Comments

Please Note: Cohesity has a zero returns policy.

Hardware items on this quote may be updated to reflect changes due to industry wide constraints and fluctuations.

Please note, if Emergency Connectivity Funds (ECF) will be used to pay for all or part of this quote, please let us know as we will need to ensure compliance with the funding program.

Thank you for choosing SHI-GS! The pricing offered on this quote proposal is valid through the expiration date set above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order.

SHI Government Solutions, Inc. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3695478; DUNS# 14-724-3096

The Products offered under this proposal are resold in accordance with the <u>SHI Online Customer Resale Terms and Conditions</u>, unless a separate resale agreement exists between SHI and the Customer.